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Quiz #6, Math 116, Autumn 2007

1.  A group of friends decides to start a company and shares are issued to the business partners based on the amount of money they invest in the company.  Tom receives 14 shares.  Billy receives 12 shares.  Sarah receives 17 shares.  Anna receives 5 shares.  And Beth, Karen and Tobias receive 3 shares each.

a. For normal business operations, a simple majority is needed for motions to pass at the shareholders’ meeting.  Write the weighted voting system in standard form for this case.

b. For certain bylaws and officers changes, a 60% supermajority is needed.  Write the weighted voting system for this condition.

2. In the weighted voting system from 1.b., list:

a. the dictator (if any—if none, write ‘none’)

b. any players with veto power

c. any dummies

3. Suppose that Beth, Karen, Tobias and Anna are bought out by Billy.  Find the new weighted voting system and then calculate the power distribution (your choice of Banzhaf or Shapley-Shubik).

